
Chapter 3

s2 =

∑
(x− x̄)2

n− 1
=

∑
x2 − (

∑
x)2/n

n− 1
s =
√
s2

68% : µ± σ 95% : µ± 2σ 99.7% : µ± 3σ

Z =
X − µ
σ

X = µ+ σZ

Chapter 4

P (A|B) =
P (A and B)

P (B)

Chapter 5

P (x) =
n!

x!(n− x)!
px(1− p)n−x µ = np σ =

√
np(1− p)

Chapter 6

Z =
X̄ − µX̄
σX̄

=
X̄ − µ
σ/
√
n

Z =
p̂− µp̂
σp̂

=
p̂− p√

p(1− p)/n

Chapter 7
X̄ ± tn−1 s/

√
n n = (z σ/m)2

p̂± z
√
p̂(1− p̂)/n n = p∗(1− p∗)(z/m)2 n = 0.25 (z/m)2

Chapter 8

Tn−1 =
X̄ − µ
s/
√
n

Chapter 11

r =
1

n−1

∑
(x− x̄)(y − ȳ)

sx sy
=

∑
zxzy

n− 1

b1 =

∑
(x− x̄)(y − ȳ)∑
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